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1060000 cm?

(15 x 8) — (7 x 2) = 120 — 14 = 106( m?2) = 1060000( cm?)
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800cm — 8m
5 X 8 = 40(m?)
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1m = 100cm
whA] 1m? = 1m x 1m = 100cm X 100cm
= 10000cm? Y Yt}
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(1) 9ha = 90000 m?
(2) 5km? = 5000000 m?
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1km? = 100 ha = 10000a = 1000000 m?2
(1) 14a = 1400 m? = 0.14 ha
(2) 20.3km? = 2030000 m2 = 20300a = 203 ha
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@ 12ha = 1200 a = 120000 m?

® 0.12km? = (0.12 x 1000000) m? = 120000 m?
@ 1200 a = 120000 m?

® 1200000000 cm? = 120000 m?
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5ha = 500a = 50000 m?
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(24 3) x 0.7+ 2 = 1.75( km?)
= 1.75km?2 = (1.75 x 100) ha = 175 ha
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175000 m? = 1750a = 17.5 ha
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=160 x 100 — (70 x 100 = 2 + 100 x 40 = 2)
= 16000 — (3500 + 2000)

= 16000 — 5500 = 10500( m?) = 105a
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28800 + 2 = 14400( m?)
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(120 +[ ])x 180 + 2 = 14400 ,

A =40(m)
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{(25 +40) x 24 + 2 + (30 + 40) x 26 + 2}

—(50% 30 +2)

= 780 + 910 — 750 = 940(m?) = 9.4(a)
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2000 x 400 + 2 = 400000 m?
= 4000a + 40a = 100(7H)




